0 R O
T FE : NMS-24923

NMMSS

79 :2023
(PART - 1 & PART - 11)

T UHE U7 O F9F | Printed No. on Answer Sheet

x
-

D&6006
53 UH w U
Chuestion Paper Booklet Mo,

aitm = ¥ ¥R | Seal of Examination Centre f

-+, -

witendi &1 WEATE | ROLL No. OF CANDIDATE

A T W TR A i e T i & wene e fraie

[wm — 1] = [ —11] e dgen

wE — iR (1245 L1595 7%
e~ 90 T (1,00 A 1230 T 7F) (2.45 %% 7% 2R HJ % )
Eﬁh— ik T — O

PART — 1| MENTAL ABILITY PART - 11| SCHOLASTIC ABILITY

Time — ™ Minutes (12,4510 .15 p.m.)
Time — 90 Minwtes {1100 to 12.30 p.m.} (Upio 245 pom. for
Hlind Candidates)

Max. Marks - 90 Max. Marks — %0
Far-l : Page Mo. 3 1o 18 Part-il - Pags Mo. 18 to 31

giemfia & fEa INSTRUCTIONS TO CANDIDATES

e forat g Frdent & wrariyd® 9@ 39%F W17 | Read ihe following instructions carefully before
gt & awT ﬁ;ﬂ'ﬁf FTAT O & o— you answer the guestions on Answer Sheer -

l. W51 99 9 UE® SO0 UNE U Ay FpEaiE | 1. Write Roll No. as given in admission card
wEy-vw § B HEIE E i HAET Bt an this Question paper as well as on the

fard | Anmwer sheet,
3. w9 s ot F ff Tl o dmEe F | 2. Write all the Nos. in English only. Write only
el ww B atw P ane digit in one block.

NMS-24923 1 PT.O.



L

118

11.

3.

14.

15,

MME-24023

ST e e e R
90 wrg ¥ ) Wl wew wT oaiftrard o
uAE W & o 1 oiE et )
werE W a9 % % wuE e A
vym U frAm owm F Ay s#En-sem
wE-gaE Be ¥ O v s A Tt
Hiftm e s o s A M s § )
g0 uien & wers wm & b Fives o
Frerrror e wran & 1 e faed v wee & B
Emﬂqﬂﬂﬂmﬁmﬁﬂfﬁﬂmmﬂzw‘m
|

um-1 (FAfE W) & 9E-OE W 1230
T T T B W 9 A0S [iws
i amm s | am-11 (@i deem) &
WE-O5 W1 12,459 2.13 w9 9% YU HT 3605
war-aas Pris ® mew 50
{Hﬂ;ﬂ—ﬁmﬂﬁmﬁﬂmﬂ%ﬁﬁfﬂm
ko

T ] i ¥ i TE i si T A
T o Tl w1 A — :
Frfvas &1 Tt 5T divs F 9Ew '
e 7 B 3 e & O gt o we ol
W — 9, T T, R, 959 W |
Tt s Tt v Ot Ame-ams we e §
T 3T & T9Em o wEeeh -

TAT i W S wEG Of w | s |
AT | TR w2, WIS 9 weeE Use § ey
FERF | ‘
¥ ohm ¥ W v o foies @ Am
& | |

2

L
h

g g

14.

15.

This test is in twe parts. Each part coniains
90 questions. All the questions are
compulsory. Each question carries 1 mark.
Every correct answer will be awarded one mark.
The answer sheets for Part-1 & Part-11 are
different. Remember you have to mark your
answers on related answer sheet

Since the time allotted to the two parts of
this: Question Paper is limited, you should
make the best use of it by not spending 100
much time on any one question.

Solve the Part-l (Mental Ability) of the
Question Paper by 12.30 pm. and submit
Answer-sheet of Part-l to the Invigilator.
Part-11 (Scholastic Ability) should be solved
in between 12.45 pm. 10 2.15 p.m. and submit
Answer sheet Part-I1 to the Invigilator.

The last page of this Question booklet is
meant for Rough work.

Method of marking Answer -

To answer a gquestion, please darken one
bubble out of the given four. in the OMR
Answer Sheet npainst that question.

Use only Black / Bloe Ball-point Pen fo
mark the answer.

. Use of any calculator, Log wbles or any

other electronic Gadgets, Mobile phones is
prohibited.

Valuation procedure -

There are four altermative answers to a
guestion. only one of them is correct.
Ome mark will be given for correct answer of
the question. If more than one bubble are
darkened for o gquestion, it will be presumed
that the candidate does not know the comrect
answer, hence, no mark shall be awanded.

» Handing over the Answer Sheet fo

Invigilator -

Please ensure that all entrias in the answer shest
are filled up properly i.e., Name, Roll No.,
Signature, Question Booklet No., etc.

Care in Handling the answer sheef -
While using answer sheet adequate care
should be taken mot to tear or spoil due 1o
folds or wrinkles.

Please return the Answer-Sheet o the
invigilator after the fest.

FET.O.
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PART -1 : MENTAL ABILITY

s« & o Ao & sowh wEm e #if
(we= 191 2 )

1 16, 23, 31, 40, 50, 61,

(A) 77 (B) 83
(C) 73 () ¥1
2 105, 114, 125, 138, 153,
(A) 174 (B) 170
(C) 172 (D) 185

fad : Frefirioam wiem ot & & = e e Bfao
A Avit | Haie ) (wew 3 8 5 wE)

3 1,4,3,16.5.32.7, 64
(A) 4 (B) 3
(C) 16 (D) 32
4 2,5 14,40, 122, 365
{A) 5 (B) 40
(C) 122 (D) 2
5  1.6,13,22.32 46
(A) 13 (B) 6
(C) 46 (D) 32

e « Prefafes wodt & Frmr s o aoge o
(Tort) g (9e 6 # 9 o)

& LRPENL,

(A) G (B) J
Ky K () 1
7 B3P c6R. d12T, 24V,
(A) MEX (B) fdaX
(C) H8W (D} g48X

NMS-24923

Direction : Find the next number in the given
sequence, ((). from 1 to 2)

1 16, 23, 31, 40, 50, 61,

(A) 77 (B) 83
(C) 73 (D) 81

2 105, 114, 125, 138, 153,
(A) 174 (B) 170
() 172 (D) 185

Direction : Find the number from the following
sequence of given numbers which does not
belong to given sequence. (Q. from 3 to §)

3 1.4, 3,16.5,32, 7% 64

(A} 4 (B) 3

(C) 16 (D) 32
4 2,5 14,40, 122, 365

(A) S (B} 40

(C) 122 (D) 2
5 1,6,13,22 32,46

(A) 13 (B) 6

(C) 46 () 32

Direction : Find the missing term in each of the
following questions : (Q, from 6 to 9)

& T.RPNL
(A) G (B) 1
(C) K (D) 1
7 b3P. coR, d12T, e24V,
(A) F4BX (B) 46X
(C) F4RW (D) gd48X

PL.O



] abe, boed, cde, def,

(A) efh {B) cfg

(C) fgh (D) gef
9 CMG FPI, ISM,

(A) NVE (B) NVY

(C) LVZ (D) LVP

fad : Prffta WAl & 79 wRaE (1) S owE
sifse | (a5 10§ 12 o)

g

(A) 35 (B) 47
(C) 39 (D) 45
i 4 36 25
6ot 4(3)1 ss(D)m
9 16 4
(A) 20 (B) 27
(C) 26 (D) 22

12

(A) 72 (B) 70

(C) 68 (D) 66
BN o~ i & s e yrei e e
w1 oftT 39 sver w g W OEEE T A
(wy= 13 | 16 &%)
13 (A) NEST (B) NOSE

{C) NECK (D) NEAT
NMS-24923

5 abe, bed, cde, def.

(A) efh (B) efg

(C) fgh (D) gel
9 CMG FPI, ISM,

(A) NVZ (B} NVY

(C) LVZ (D) LVP

Direction : Find the secret term/no, (7) in the
following questions. (Q. from 10 to 12)

TRBE

(A) 35 (B) 47
(C) 39 (D) 45
11 4 36 25
Iﬁ®ﬁ4 4 | 3&@“
9 16 4
(A) 20 (B) 27
(C) 26 (D) 22
12
(A) 72 (B) 70
(C) 68 (1) 66
Direction : Arrange the given words in

alphabetical order and choose the word which
comes first. (Q. from 13 1o 16)

13 {A) NEST
(C) NEChk

(B} NOSE
(D) NEAT

PT.O,



14 (A) GRADE

(B) GRAZE

(C) GLARE (D) GLOAT
15 (A) PALACE (B) PALEAE
{C) PALETS () PALIER
16 (A) SEEKER (B) SEATER
(C) SERIES (D) SEVERE

14 (A} GRADE (B} GRAFE
{C) GLARE (D) GLOAT

15 {A) PALACE (B) PALEAE
(C) PALETS (D) PALIER

16 (A) SEEKER (B} SEATER
{C) SERIES {0} SEVERE

P : o et F faa (o) & o7 e Pl
g =1 | ! ® srer we b ool da € sy
foresr (=) % =i o afmd | orst & B wdt famen
g1 (95 17 § 20 7%)

17 P= :oam c5em 7

Direction : There is some relationship between
the words / numbers on the left hand side of
sign (::) and the similar relationship exists
between the two terms on the right hand side
of sign (::). Find the missing term. (. from
17 1o 20)

(A) = (B) &
(C) mkr (D} my
18 NUMBER : UNBMRE :: GHOST : 7
iA) HOGST {B) HOGTS
(C) HGOTS (D) HGSOT
19 1:8:2:27:7
(A) 37 (B) 47
(C) 64 (D) 57
20 9:162::8:7
{A) 128 (B} 144
{(C) 96 (D) 112

i : Pl o=l & oo & 8 99 e 1 T
HT W e et § w6 (w20 F 24 )

21 (A) ZEET (B} s
(C) =m/a (1) e
22 (A) wt (B) ¥
(C) Frga (D) an
NMS-24923

17T  Day: Week :: Week : 7

(A) Year
(C) Month

(B) Day
(DY Hour

18 NUMBER : UNBMRE :: GHOST : 9

(A) HOGST (B) HOGTS
(C) HGOTS (D) HGSOT
19 1:8::27:%

(A) 37 (B) 47
(C) 64 (D 57

(20 9:162:8:9
(A) 128 (B) 144
(C) 96 (112

Direction : Choose the word which is least like
{different) from other words from the given
group of words. (). from 21 1o 24)

21 (A) Tomato (B) Potato
(Y Onion (D) Carrot

22 (A) Square (B) Rectangle
(C) Triangle (D) Circle

BT.O)



23 (A) ACE {R) FHI
iC) KLM (1) SLIW

24 (A} 21 (B} 83
(C) Bl (D) 69

25 ofr fisdt wiElas W § POET #1 PEOS
Fran w7 9 idhes wrr @ LEAF =
e Ao
(A) MAEF {B) LAEF
{C) LAEE (D) LAFE

fopa : Pysftafiy [ermadt =1 s @ ofen o B
T wEEt ¥ e difE | (U 26 W 30 &%)

s T o Ui ananeE 8 A o B el s
st wm Tk &) C o B st st i et 1
#1 D afrt A wiom ot =l o 9 E s B
eiemer afry e T T d)

26 Fe-a fra 1 4 sfas searss T TE 4 7
(A) #9 (B} fe
(C) g (D) wpiret
27 OIS © - SETE A s Ty
o TET H7 ¢
(A) A (B} C
(Cy D (1 B
28 D. B afir A F= & o faeg gm 7
i
(A) Te=dr afrr s
(B) witve afre fiesd
{(C) Haw i
(D) fe=h
20  aeassl o Hy—91 21 O 9 P wgn TE A
(A) A
{B) B
{C)y D
(D) tren o srearas T &

NME-24923

]

23 (A) ACE (B) FHJ
(C) KLM {D) SUW
4 (A) 2] (B) 83
(C) Bl (D) 69
25 In a certain language POET is written as

PEOS. then in the same code language the
word LEAF will be written as :
(A) MAEF (B) LAEF
(C) LAEE (D) LAFE

Direction : Read the following information
carefully and answer the given questions,
(). [rom 26 to 30)

In a school, there were five tcachers.
A and B were teaching Hindi and English.
C and B were teaching English and Geography.
D and A were teaching Mathematics and Hindi.
E and B were teaching History and French.
26  Which subject were teaching by more than
two teachers?
{A) French
(C) History

(B} Hindi

(D} Geography
27  Among teachers. which teacher were
teaching maximum number of subjects?
(A) A (B) C

(C) D (D) B

28 From the following subjects, which
subject were teaching by D, B and A?
(A) Hindi and English

(B) Mathematics and Hindi

(C) Only English

{2} Hindi

29 Among teachers, which teacher was
teaching less than two subjects?

(A) A

(B) B

(C) D -

(D)) There is no such teacher

PT.O



30

31

32

36

37

Tt & 8 - ey e ity el S
T ¢

(A) Dafir A
(C) Dalr B

(B) C a7 A
(D) 7= & wig 2

s, 3 fadfy ofver & sire 5o & afy and

g%t 15 feh o ¥ oo, o e @ wd |

e 5 fdl a6 W o A ¥ A i
wE A g R

(A) 20 fdt (B} 10 fir

(C) 15 fassih (D) 5 fai

31 feenfelal o wen o e = w1 7ET B
FHATHF RS- mEm b f
(A) 14 (B) 17
(Cy 1a (D) 15

ary et A & 6 firfl = S &, @ o
ure %1 24 iy = wew B dn s

(A) s (B) g

(C) sesamt (D) THam
CARPENTER gr= & 587 # & S yies
Tk} o W ww b P

(A) REPENT (B) PAINTER

(C) CARPET (D) NECTAR

wfor & e o7 uw w9l 11:05 =0 g9 i
Ak kLo

(A) 12:10 (B) 12:05

(C) 12:55 (D) 12:45

ot # 4 s g

(A) TaemmE (B) y=g

(C) == (DY) gemie

Ty Faot & & wrds w29l
{A)2,3.1,4,5 B) 1,2,3.4,5

C) 4.2 1,35 () 1,3, 52.4

MMS-29923

30

3

LES

is

R

37

Which of the following couple was
teaching both Maths and Hindi?

(A) Dand A (B) C and A
(C)yDand B (D) None of these

Sachin walks 5 km west and tums left and
wiilks 15 km, Then, he again tumns left and
stops after walking 5 km, How far is he
from the starting point?

(A) 20 km (B) 10 km

(C) 15 km (12} 5 km

Arun ranks 17% in a class of 31 students,
What i his rank from the end?

iA) 14 (B) 17

(C) 16 (D) 15

If 6" of & month is Tuésday, then what
day will be on 24™ of the same month?
(A} Saturday (B} Wednesday

(C) Fridav (D) Sunday

Which of the following words cannot be
formed with the letters in CARPENTER?
(AJ REPENT (B) PAINTER
(C) CARPET (D) NECTAR

When seen through a mirror, the clock
shows 11:05. The exact time is :

(A) 12:10 (B) 12:05
T () 12:45

Pick the odd one out.

(A) Seismograph  (B) Earthquake
(C) Cyelone (D) Tsunami

Show the meaningful sequence from the

following options.

(A) 2,3, 1,45 B)1,2,3,4.5

(C) 4.2, ).3.5 (D) 1,3,5,2.4
PLCY



g o i oh EvET 9 H v wve wel ST T |
e St w3 s Terdh o ¥ i Rl farfure fam
WmUE Sl m s s aw (1) s
Tor g fevmm g | (991 38 & 40 7%)

38 64|20
R |5 ]12
716|017
(A) 2 (B) 4
(C) 16 (D} &
¥ || 3
6|7
1214 ] 2
(A) 16 (B) 22
(C) 23 (D) 24

M |plT]|?

0O|0Q|S

M|N|R
(A1 (B) L
(c) o (D) U

fordon : il oy sl o e, WA % gt A B ER
T Y W e W e o (0 41 45

- {M@O {mo O

6 G

41 o, wifss, e

-:m@o mno ()

‘@D “®
I

NMS-24923 4

Direction ;: Out of nine cells of a square one
cell is left blank and in the rest of cells numbers
are written, which follow some rules. Get the
rule and find out the proper option for the blank
cell (7). (0. fromy 38 to 40)

38 [9]|4 |20
g | 5 (M2
716 "7
(A2 (B) 4
{C) L6 (D) 6
19 1 |2 '@
6|7 1|%
12 |14 |\
(A) 16 (B) 22
(C) 23 (D) 24

40 PplT]|?

Ll .

0|19

M|N|R

{A) ] - (B) L
(C) O mu

Direction : The diagrams showing the
relationship among the words in the question.
Choose the correct option ns per the given
relationship. (Q. from 41 to 45)

mp@O tﬁ}O )

6 °@

41 Science. Physics. Chemistry

{M@O fﬂ;O )

‘@D "B



42

45

T, TE9, HEET

fM@O tﬂ;r_:) O

@

W, 9, T

Ml@o 1H}O ®

u:r . m}@

FITeRt, =, W

(A) ®() O
©0 %0

u::- {D}@
frfeal, e, aam

:M@O {B}o ()

"6 @

MWME-24923

43

45

Doctor, Men, Artist

» 50 O
G0 F%
{c'm {m@

Creature, Humuan, Plimﬂ

:m@o iBJO O

‘@ @

Criminal, Thief, Judge

“«@0 20 G

@9 m@

Diseases. Scurvy, Chicken Pox

{M@O {B}O O

:L} . m}@



46

47

45

49

51

e B o vy W sy sy F arafiaa
E 3 I L

1. 9= 2. 9w
3. e 4. T
5. anarg b U=
(A)3 26,541
(B) 3,2,5.4.6, |
(C) 3, 2,4, 5,6, 1
(D) 3,2,4,86,51

ufs ame’ W T, W W v, EEr W
AT, A & wEr, aelr  faadr s
WA, o AR e e A P

(A) &= iB) ar

(C) (D) arEs

SO e f | % =g Tl e w=mETWF
(A} P iB) Q

(C)o (D) B

RACS s & 951 o WAME 3087 %7 H39
I T W ST B b s o e andyel
gTeE WA ) g B 7
(A) w7

(C) =

(H) R
() #a

Pt seftrat Sa—8—a dear o ws w5
THT 97w B, ot v wweh & et 9
wulral 51 H@T Uw auely & O o gefal w6
S 21 wefrt & v | um o v

(A) 9 (B) =&

(C) &= (D) =

uie g % W g & fom 5 ey 55 ad B
wrrft | wemze f 8 ad qd aeelt sy Bee
a7

(A) 44 3
(C) 40k

(B) 46 79
(D) 42 ad

MNMS-24923

47

49

sl

Arrange the words given below in a
meaningful sequence;

l. Book 2. Word

3. Lelter 4. Sentence

5, Lesson 6. Page

5.4

(B) 3.2, 5.4.6,

(C)3.2.4,5,6
6

If cloud is called *white’, white is called
air’, air is called “blue’, blue is called
“water’, water is called *electricity’, then
where will the birds fy?

{A) Adr (B) Water

(C) Blue (D) Clowd

What will be the 7' letter to the right of |
in English alphabet?

(AP (B) O

(C) O (D) R

How many meaningful English words can
be formed from the letters of the word
RACS using each letier only once?

(A) None (B) One

{C) Two (D) Three

What is the least number of fish that can
swim in a formation, if two fish are in
front of one fish and two fish are behind
one fish and one fish is in between the

twi fish?
(A) Five (B) Seven
(C) Three (D) Four

Atter five years the age of Rahul’s father
will be 55 years. What was his age 8 years

agn?
{A) 44 years (B) 46 vears
(C) 40 vears (D) 42 vears
BT.CY



52

e e (1) ) s S

"

(A 1D (B) 11
(C) 12 (D) 13

8§y oftc+ mand et wmad Al <
W+ R, A —* 5+4—18=3 W A
wm ¢
(A 14 iB) 26
(C) 34 (D) 6

84 159 160 & v i aeand ot o 1TH
Fersro &, @ 4 & 1 7
(A) 5 (B) 2
(C) 7 ()4

85 werw A e A w4 - g % o
AT Y § (SR, A9 H e i T
(A) frmn (B) wig
(C) g (D) W

56  HEN 89123647 Hued ol gfEd i w1 e
arerT uirais fEa wen & g v gEt
ST wE e IEE O i o] & T o O
e Wi ¥ 1 qerateen & avE 2 o 8 dh
stw Pyt § % S g ?
(A9 iB) &
{C) 1 (D 2

NMS-24923

55

Find the missing number (7)

{A) 10
(C) 12

(B) 11
(D) 13

If *+* means “x", *-" means *+" and '>’
means “ +*, then what will be the value of

—» 5+4-18%=37
(A) 14 {B) 26
(C) -34 (D) &

How many numbers are there between 15
and 160 which are divisible by 17 but not

by 47
(A) 5 (B) 2
(€) 7 (D) 4

Manoj said to Maresh - I am the only son
of your father's father.” How is Manoj
related to Naresh?
(A) Father

(C) Son

{B) Brother
(D) Nephew

In the number 89123647, the positions of
the first and fifth digits are interchanged.
Similarly, the positions of the second and
sixth and subsequent digits are also
interchanged. After rearrangement which
of the following will be the fourth digits
from the right end?
(A) 9

(C) 1

(B) 8
(D) 2

PT.O.



falar : uws 87 4 60 % Frstifias fas o amnfre | Direction : ). No. 57 to 60 are based on the
following diagram. Answer the questions given

¥ < oy o weet & e
Q) = o, [ = wmrr, /\ = wiwen

57

61

63

s w
Faemey ¥ 4 27 BT
XY
3l
T |
HATHEIT

fired Fgondh 5 & s & slr A wimer 7
(A) 3 (B) 8

{C) 22 (D) 25

faer swranT ey & 7

(A) 30 (B) 29

(C) 25 (D) 22

faer wfaet, Faemdt ot ¥ it wemmsre ot 7
(A) 3 (B) 4

(C) 8 (D) 11

far wiwe 7 o fawmd ¥ ofr =1 & womre 7
(A) 30 (B) 27

(C) 22 (D) 8

To widsfes v 4 aff WRITE & VOHSD
wet o, @ MIGHT =7 3y w%r o 7
{A) LHGFS (B) LGHFS

(C) LFSGH (D) LHFGS
RUMINATION s/ & serl & feos o

wie ¥, fords dra oo @1 o ¥ P o

T EvEE S By R
(A) 1 (B) 3
{C) 2 (D) 4

T didE § To 5 W @ 1591 s |
11 w2 & 1 aw o & R A k7

{A) 25 (B) 26

(C) 27 (D) 24

MNMS-24923

7

58

59

6l

63

12

below:

() = Players, [_]= Antists, 2\ Doctors

g
\2 N8/
30

I B
Artists

How many pluyers are neither artist nor
doctor?

(A) 3 (B) 8
(C) 22 (D) 25
How many artists are players?
(A) 30 (B) 29
(C) 25 (D) 22

How many doctors are players and artists
oo

(A) 3 (B) 4

(C) 8 (D) 11

How many doctors are neither players not
artists?

(A} 30 (B) 27

(C) 22 (D) &

In a code language, if WRITE is written
as VOHSD, then MIGHT may be written
a5

(A) LHGFS
(C) LFSGH (D) LHFGS

How many such pairs of letiers are there
in the word RUMINATION, each of
which has as many letters between them

(B) LGHFS

as in the English alphabet?
(A)1 (B) 3
()2 (D) 4

Raman is 15™ from the beginning and 11
from the end in a row. How many people
are there in that row?

{A) 25 (B) 26

(C) 27 (L) 24

PT.O



Pl - i & demae & WrarT o7 Ui 64 9 68
% & T dFAT

64

67

972 682 189 298 751

w wee de O uEe i s afs W o
e o, o) Py & 8 ef—of) dvd oas =
e wri ¢

(s A= - 972 682 189 298 751)

(A) 972 (B) 682

(C) 189 (D) 208

o ey HE o U AT A A Ty T
T A A, & s S e & ge
st AT wad o gen & S o F A

fmm =T e ?

(v & : 972 AE2 18O 208 751)
(A) S B) 7

(C) 9 (D)8

afy wrfr Tawm o o e om afr wd)
faee st & o W W, @ 9 A
W wEm ¥ U ofF § o ven & gEt o
=) werEn e, & Prer o | e smdm ¢
(e WZ : 972 682 189 208 751)

(A} 6 (B) 3

(C) 4 (D) 3

ofs weEE wem # gan sl fmn e ot
o=w B @, 9 e u B § IEe s
T WA gy dua & sferm s w O En
B e

(e 5z - 972 682 189 298 751)

(A) 7 (B} 6
(€)9 (D) 8
ofy Wil Hem § A1 S B sl wy o

s e, o Pretaiea 9 9 ded wey 18
T RE-H w7
(et ®2 : 972 682 189 208 751)

(A) 972 (B) 682
(C) 189 (D) 298
NMS-24923
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Direction : On the basis of numbers given
below, answer the questions 64 to 68.

64

67

972 682 1BY 298 751

If first and last digit of each number are
interchanged, then which of the following
will be the third largest number?

(No. set ; 972 682 189 298 751)

(A) 972 (B) 682

(C) 189 (D) 298

IT one is added 1o smallest number and
two 15 added to largest number, then what
will be the difference between second
digit of smallest number and third digit
of largest number?

(No. set : 972 682 189 298 751)

(A) 5 (By 7

(C) 9 (D) 8

If one is added 1o smallest odd number
and one is subtracted from largest odd
number, then the second digit of largest
number is subtracted from the second digit
of smallest number so obtained, which of
the following will come?

(Mo, set ; 972 682 189 298 751)

{A) & (B) 5

(Ch 4 (D) 3

If second and third digis of each number
are interchanged, then what will be the
sum of first digit of smallest number and
last digit of largest number so obtained?

(Mo, set : 972 682 189 298 751)

(A) 7 (B) 6

(C) o (D) 8

If all the three digits in each number are
arranged in descendintg order. then which
of the following will be the third largest
number?

(Mo, set : 972 682 | B9 298 751)

(A) 972 (B) 682

(C) 189 (D) 298

ET.O.



69 Fr=fafea & aef & gearas fae (7)
W W 97 B - s s 7
HEQV:NOEEEN
(A) B (B) 11
(C) & (D)7

2

T0 e w9E o 0 ¥t 60 BiE 7 U F i
1 W, qfE 9% UF HEUE H 3 6 ane b
it o 2 e B e &

(A) 60 HEoe (B) 50 #=

(C) 58 dgum (D) 57 dwvs

71 Pt argh & fad g b7

(A) 12
(C) &

iB) 10
() 9

e : Fod iy Forsl & & o for o T &,
T i | (usw 728 75 99)

72 (AN m E
() A oy Z

73 (A) {H}Q
f{‘.}@ :Diﬁ

74 (A}@ {EJ@
{Cl@ {Dl@

MNMS5-24923
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69 What number will come in place of the

question mark (7) in the following figure?
3lals AN [713]90An [4]2]2

{A) B {B) 11

(C) 6 (D) 7

2

70 In what time will a monkey touch the top
of a tree which is 60 feet tall, if it jumps 3
fleet in one second and immediately falls
2 Teet?

(A) 60 seconds
(C) 58 seconds

(B) 50 seconds
(D)} 57 seconds
71 How many triangles are there in the
following figure?

X

(A)
()

12

(B) 10
(D)9

Drirection : From the given figures, one figure
is different from the others. choose it (Q. from
72 10 75)

72 (AN @) E
() A Dy Z

73 {A}C) {B]O
ﬁ"l@ {D}A‘d

74 iﬂ]@ {B]@
o) o

PT.O.




78 m}% (B) 75 mr% (B)
(C) %} (D) % () ZE} (D) %

fldwr : g o ey Pl o 9 ofem o = 9w | Direction @ Sclect a suitable figure from the

Fifa Frdr P v ( 7) ot Tt e e frmnwn | four alternatives, which when placed in the

first 7 81 ) (9 766 80 7E) blank space of figure () would complete the
pattern. (). from 76 to 80)

T6 wyw wwEh

| 76 Question figure :

<17 .
5 B

Answer figures :

(A) g ® [N\ (A) Iz (B)
1

77w sy 77 Question figure :

U S Answer figures :
*) |@ (B) [ A\ (A | @ (B) | A
© |0 D) | A © |0 @) | A
78 wym WA 78 Question figure
[ | | [ &
S A
Y a .,
4 da -
THT HvE Answer figures
A * ®) [ . A T (B) E
(C) E {mF © [ 4 (D) |,

MMS-24923 15 P



k-

ABFIEnBCHEA LD Caamid

a5 aaEn fE D e A 4 e frsam b 7
(A) T (B) wrd
(C) =mr (D) g%

HiEm 6492758 & aiwl @ S0 & o wAE
T, 1 e afeel o e araiaion s ¢

(A) % (B) #m
(C) = (D) 7 & =g =)
qft 7=352 7 ACT=48. @1 BAT Frer & &
e s & 7

(A) 23 (B) 69

() 92 (13} 46

NMS-24023

7

83

Question figure ;-
N\
Answer figures :

(A) ?
o)

Question figure :

®
o7

A is the daughter of B. B is the mother of
C. D is the brother-of C. How is D related

o A7
{A) Father (B} Brother
(C) Grandfather (D) Son

If the digits of the number 6492758 are
arranged in ascending order, then the
position of how many digits will remain

unchanged?
(A) One (B) Three
(C) Twao (D) None of these

If =32 and ACT=48, then BAT is equal
to which of the following?
{A) 23 (B) 69
() 92 (D) 46

PT.O



g4 oft Ty wiwkes wn & CAT = 24, PEN
1 35 foran wnu, &3l v 8§ GOAT 5 #m

fen Ao ¢
(A) 41 (B) 435
(C) 43 (D) 39

g8 wrr fow v AniEr g & wn el & )
e, gyt & = ot § A wEa, WEN H
Trdl oirr) Be-A 5 B e 42 ¥
Tt o, TEaT & At a7
(A) THS 3y FEs
(B) Ty oft giw
(C) =wEW 3y WEn
(D) g & =g 781

oty « i wameTo #a ofr b weeu &, O
# wear ¢ oy Pl g AT Perwdt & & s e A
it %)l ferew g | (9 86 @ 90 7%)

86 Wy SNFM
ININGEE

A ki P

F9T HFA
)| @ (B)

(C) @ (D)

®|| &

87 wr= swxhl
X &2 7 |
% -
m| S ® | D

<D

| & (D)

NMS-24023 17

84 If in 2 code language CAT is written as
24, PEN is written as 35, then how will
GOAT be written in that language?

(A) 41 (B) 45
(C) 43 (D) 39

85 Four friends are sitting around a square

table. Ramesh is on the right of Suresh
and Mahesh is on the left of Lokesh,
Which two friends are sitting opposite to
each other while Lokesh is on the left of
Suresh’?
(A) Ramesh and Lokesh
(B} Ramesh and Suresh
{C) Mahesh and Lokesh
(D) None of these

Direction : In each of the following examples,
there is some relationship betweenaand b. The
same relationship exists between figure ¢ and
one of the given four alternatives. Choose the
correct altemnative. (Q. from §6 to 90)

86 Question figures :

AlAL: O]

a b C
Answer figures :

| @ ®) | B
)| X ) | &S

87 Question figures :

@ BT S =

i h c
Answer figures :
| @ | D

©| 8 |

PT.O.



B8 waw s :
Eﬁ N % ] I
i b C
ELLEcaan
(A) Z (B) §j
ol oS
;1] Iﬂfﬂ?ﬁ!ﬂ:
A XX =) o
a h W
mﬂmt
(A | (B) I{}]
(C) '_' {3 ﬁ
an mm@ﬁi:
E"ﬂ] tloow] :: ||:i::zﬁ|: 9
B h i
o s
iA) B0 (B} Eﬂﬂ.

() Iﬂr::-.l:l

MMS-24923

(D oo

B8 Question figures :

Z:E:!

LN
L=

a b

Answer figures :

(A) % 2
(C) %

B9  Question figures ;

(B)

(D)

A\ x|

8 b
Answer figures :

(A) [

(©) O

o=h

M Questions figures :

(B)

£/ |ar

()

Yol loDpw]

=K

d b
Answer ligures :

(=80

(C) lﬂc.m

(A)

G

(D) ﬂn%

2T



qitE FE : NMS-24923
- I : st G
PART — 11 : SCHOLASTIC ABILITY

e
SCIENCE
| Prer & 5 @ Profier st @ e vaan | 1 Which one of these vitamins required for
g7 maintaining good evesight?
(A) Frafs K (B) faritm A {A) Vitamin K (B) Vitamin A
(C) fazifem B (D) Tt D {C) Vitamin B (D) Vitamin D

frer 8 & o | SreTEreT T STOTE 6
FHHEMGET

Which one of these discases is caused by
the deficiency of lodine?

(A} Goitre {B) Beri Beri
(A) e (B) ¥h & (C) Scurvy (D) Rickets
(C) vl (D) fFraza i :

What is the name of the process by which

o i & ¥ 4w & e oo w9 fibres are separated from the seeds by
A= = sl g yaw e o & 7 combing?
(A) s (B) g7 (A) Ginning (B) Weaving
(C) wmen (D} oo {C) Spinning (D) Knitting
foet 7 1 i 7 orTeh e e & 7 e, v
(A) g;r (1) e (A) Brick (B) Glass
(C) #= wm mrre . (D) wEdt (C) Oily paper . (D) Wood
et 5 3 T 6 e e ¥ foveds What is the name of the part of a leaf by
A ad e which it is attached to the stem?
(A) (B) froed (A) Lamina (B) Veins
(C) = farm (D) uniga (C) Midrib (D) Petiole

Ty # e e ot WO e R

What is the name of the innermost part of

(A) =T (B) Tt a flower?
{A) Pistil (B) Stamen
(C) o (D) i (C) Anther (D) Stigma
:‘{? aen fire =t et et i e The joint where our neck joins the head is
£ called -
(A) g Hil {A) Pivotal joint
(B) g €y (B) Ball and Socket joints
(C) == dily (C}) Hinge joint

NMS-24923
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B 7 WY 91t i e fae st
e Ry
(A) 206 (B) 209
(C) 305 (I 310

9  OWE o e siema e B R 7
(A) 36 iB) 33
(C) 32 (D) 35

10 :im:&nﬁm:mtﬁnﬁmqﬁm
?

(A) =g i
(B) w1a Tdm iy
(C) 3t |
(D) st =

11 o= & wes Ot Iuita qe fisat @t e e
Ak
(A) T (B) %

(C) forrnd (D) = o

12 P & 2 o sofitd 9w ssme A
ﬂmtﬂtﬂﬂrmtﬁwﬁﬁﬁﬂﬂ
Ik
(A) e (B) fraw
(C) (I} Ty}

13 o o wenelt = ar s e &, Bl da
et s o ferafeer dfems vl @ s
oA A7
(A) i (B) s
(C) Fererercingy (D) T

14 i i w, w2, S, AW A e
Sl UEY 1 wE § 1wt o9 ey
s wETa
(A} ST (B) s
(C) rgZram (D) g

15 :ﬁqﬂhﬁﬁlﬂﬂm”hﬁrﬁﬁﬁ#
7
(A) 6.5 sy (B) 7.5 dz3
(C) 1.5 dree (D) 2.5 drzx

NMS-24923
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1

12

13

14

15

How many bones are there in the human
Skeleton composed of at birth?

{A) 206 (B) 209

(C) 3035 (I3 310

How many vertebrae are there in the
human backbone?
(A) 36
(C) 32

{H) 33
() 35

Which tyvpe of motion is there in a
pendulum in motion?

{A) Circular motion

(B} Rectilincar motion

(C) Non-periedic motion

113} Periodic motion

What is the name of the tiny pores present
on the surface of the leaves?

{A) Stomata {B) Lamina

{C) Veins (D) Midrib

Which of these is an example of a parasite
plant, it deprives the host of valuable
nutrients?
{A) Cuscuta
{C) Neem

(B) Algae
(D) Pitcher plant

What is the name of nutrition in which
organism take in nutrients from the dead
and decaying matter?

(A) Autotrophic  (B) Saprotrophic
{C) Heterotroph (D) Parasite

What docs bacteria Rhizobium provide 1o
the roots of gram, peas, moong, beans and
other legumes?
(A) Oxygen
{C) Nitrogen

(B) Carbon
(3} Hydrogen

What is the approx length of the small
intestine in human body?

(A) 6.5 meter {B) 7.5 meter

(C) 1.5 meter (12} 2.5 meter

PT.CL



16

17

19

20

21

23

fort ot e e B weE g i R 7

(A) drga (B) ar=grerg

(C) o (D) gm0

=itz (ol 5 T v F arner e
Wit f d2r e B 7

(A)2 (B) 3

{C) 6 (D) 4

wysira sridl o gy 3 e e H aEE
B

(A) O

(B) weerf) aw iy

(C) e Al sdEt

(D) e )

wdt wifterat ot figm = & wpeplteper Fwm mar & ¢
(A) P (B) gasiE

(C) (D) T

s i = AT Wy e e kY
(A) 87°C (B) 98oC

(C) 35°C (D) 37°C

ufttfes apen foer & & T o v o & 2
{A) = (B) 9

(C) Farrs (D)

did & & | T o W W m ot T A
%7

(A) fofes arm (B} FIF o

(C) Wfges are (T3 anaabivg ww
T EE m EETE AT R T

(A) HifEay FEEE HEEE

(B HiTETs SEe

(C) Wi wate

(D) Erfifiras eggmams

NMS-24923
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23

Which is the largest gland in human body?
(A) Pituivary (B) Pancreas
{C) Liver (D) Testis

How many parts do the ruminant animals
have in their stomach?

(A) 2 (B) 3

(C) 6 (D) 4

Which animals® sofl hair is used for
making Pashmina shawls?

(A) Yak

(B) Kashmiri goat

(C) Lama and Alpaca

{13) Angora goat

What is the name of the group in which
all animals are categorized?

{A) Heterotrophic (B) Saprotrophic
(C) Autotrophic (D) Parasite

What is the normal temperature of the
human body?

(A} 9T0C (B) 9R°C
(C) 35°C (D) 37°C
Acetic acid is found in :
(A) Curd {B} Spinach
(C) Vinegar (D) Milk

Which of these acid is found in ant’s sting?
(A) Citric acid (B) Formic acid
{C) Lactic acid [} Oxalic acid

What is the chemical name of the baking
soda”

(A) Sedium hydrogen carbonate

(B) Sodium carbonate

{C) Magnesium carbonate

(D) Magnesium hydroxide

PT.O



24

15

27

29

ot wiemsT oy, Faerds srire o anfrgi Bl
AT firmrT ® wmEd e g ao | W
tlﬂtmaﬁﬁﬁmﬁﬁlﬁﬁm&ﬂ
o Bl F

(A) g @y |

(B) sorga 4

(C) e

(D) Fwrmfeadg autasy o

= & & 59 W fewes swrsfradn &y =
weEAw (T ara) aviv wren &

(A) mf 3 s

(B} Ty arees — aefus quf

(C) = afry and

(D) 7 T e

ﬁﬂtﬁﬂimmﬁmﬂﬂﬂﬁﬂm!ﬁ
HeaT & ¢
iA) 3T
(C) mos

e 3 & foem Aenies 3 v e e s o
W T A @ fagm wmo wenive B k@)
TEE T T g gt o fady gk 7
(A) aras s T

(B) " e

(C) ¥ frrimm sinde

(D) =z

Al & med v (g ) & e wen &
AT o WA e ae

(A) o (B) s/=am

(C) wwma (D) 5o & i 7

foe & o2 wgw w1 st whfe P 4
EE AR e G A

(A) areee Tuw

(B) s=am #e

(C) e =y

(D) wwes g

C(B) 9m
(D) feed

MNMS-24923
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A camivore with stripes on its body moves
very fast while catching its prey. It is likely
to be found in

{A) Polar regions

(B) Deserts

(C) Oceans

{D) Tropical rainforesis

Which option best describes a tropical
region”

{A) Hot and humid

(B} Moderate temperature heavy rainfall
(C) Cold and humid

(D) Hot and dry

Which of these can achieve the fastest
speed?

(A) Falcon (B) Chectah

(C) Rabhit (D) Squirrel

Which one of these scientists first noticed
the deflection of compass needle
everytime the current was passed through
the wire?

{A) Thomas Alva Edison

(B) Michuc| Faraday

{C') Hans Christian Oersted

(D) Mewton

Which onc of these mirror is used for side
mirror in automobiles?

(A) Convex (B) Concave

(C) Plain (¥} None of these

A virtual image {arger than the object can
be produced by a -

(A) Concave mirror

(B) Concave lens

(C) Convex mirror

(D) Plain mirror

PO
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32

34

335

e g wiafia = ae odo § T e
ey mey T Wit & dre o i 4 g R
ufs & =dur & anr | e geen &, @ e
e i ufafia & v & w7 ogh eei

(A) 39T (B) 5 et
(C) 6= (D) 8 gzt

Frey & & =9 o1 v SO FIE B wEA T

| 3

(A} ar (B) W

{C) woa (D) &1

fope & it o) ot Fepmoa =8 & ¢
(A) Fa% (B) difa

(C) gwyon (D)t

e it P T # et 1w R
ki

(A) BT

(B) UwhrETe

(C) TEgEiTs o

(D) s

w7 T A = e A A e
o e

(A) mdt (B) &
(C) % g (D) el
Tar Ty e e T A ¥ 7
(A) FEST S g (B) Wi
(C) #E (D) =

NMS-24923
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Rohan is observing his image in a plane
mirror. The distance between the mirror
and his image is 4 m. If he moves
1 m towards the mirror, then the distance
between Rohan and his image will be

{A)3Im (B)5m
(C) 6m (D) Em

Which one of these is not a Kharif crop?
(A) Paddy (B) Muize
{C) Cotton (D)) Gram

Which of these disease is not caused by
virus?

{A) Chicken Pox
{C) Influenza

(B) Polio
(D Antheax

Yeast is used in the production of -
(A) Sugar

(B} Alcohol

{C) Hydrochloric acid

(D) Oxygen

Which of these is the most cofmmon carrier
of communicable diseases?

(A) Housefly (B) Ant
(C) Dragonfly (1) Spider

Ravon fibre is obtained from -
{A) Wood pulp (B1 Plastic
{C) Iron (D) Nylon

PTO.
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41

42

AMAE

SOCIAL SCIENCE >
Sz Sfem St i wen we g o 36 When was the East India Company
(A) 1498 % (B) 1590 & ﬂ;}f‘ihﬂi‘ﬁg "
3 | n (B3] In
(C) 1600 % o (D) 1905 (C) In 1600 (D) In 1905
T ST S B AT W A | 37 Permanent Settlement system was
e o W] g 7 implemented during the reign of which
(A) =T sweh governor general?
(B) H'I'" m LA Lord Delhousie
(C) wrk fro (B) Lord Corpwallis
(C) Lord Ripon
(D) wme T 4 (D) Lord William Bentinck
| 841 gramed F W R @ em A WA % | 38 Which of the following was not one of
FIO B | oH A € |y oy o a4 the reason for the increase in demand for
(A Tt 8 s g Indian Indigo in the 18 century?
(B) 1 ST SR (A) Industrialization in Britain

EELEE A il (B) World indigo production halved
(C) wria emsfzgey &3 & 5a7 5| & (C) India is a wopical region and indigo

Trera el sredt g well here
(D) wridrg s = Frate agmm e &) (I3} The Indians wanted to increase the
i g i o2 export of indigo.

PRY 6 SIF J  w w 0 39 What did the people of Baiga trib
(A) TaT  (B) T B HA contider taemapivea?
(C) =mardr (D) &g 1?} hﬂbpu: (B) Child of forest
i T 5 g 0 (C) uﬁllm:wn_uln _{Db Vinichya
(A) llq‘?iil 5";" < Ry 1857 40 ‘l.!;-"ht:nthd the ﬁ;:ﬁl Ireedom struggle take

ace?

(C) 1858 () 1859 (A) 1757 (B) 1857
A & st P g fees ariw 17 (C) 1B58 (1) 1859
(A} #it far 41  Who started the English education system
(B) ¢ Fog9 'LnﬂhInlll:l'tﬂ‘zi o ,
C) =7 werw tA) Lova Macguiay
:D:ﬁﬁ‘iﬂl (B) LﬂI‘dCHE_

(C) Warren FHastings
T T T gy (2} Lord Ripon,
{A) 1911 (B} 1920 42 When was the partition of Bengal done?
i, 8% © B
i o il 43  Who founded Shantiniketan?
(A) 8T ST B :

(A) Mahatma Jvotirao Phule
(B} thyrema o (B} Rabindranath Tagore
(C) warit faermris (C) Swami Vivekanand
(D) vt Tz (1) Swami Davanand

AMS-24023
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47

49

ﬁ'!rgﬁmﬂﬁ'ﬁmgﬁq
Tt 5T
ii A

il ﬁ:mﬂ

Ay

cnvey
11

%@3

h-'ﬂ a-i, l;:—n -, ‘d-iv
{B) a-ii, b-iv, c-i, i
() a-iv, b-iid, Cif-d-i
(D) a-iii b-i, c-iv, d-ii

aery wiET- o, W & e e | T
L3

(A) TrEH

(B) =dm

(C) =& wis

(D) =

ﬁmmmmﬁmﬁr

gree 3 T AA-e-Ae T & et -
(A ofwadE g

(B) = fadere

(C) T ¥y -

(D) arvfts O -

et dv T A AT FA T A
o 7

(A) A=A (B) FAHEs

(C) weree (1) HaeEm
hﬁwﬁqﬁumﬂﬁﬁﬁqmm
i

a  TTIEr i- T

b AR i TE i fEm weTm k
¢ = it AT AT

d Tmfrest v st Sram T
fepeey -

(A) a-i, b-ii, e-iii, d-iv
(B} a-iii, b-i, c-iv, d-ii
(Cy a-iv, beiii. c-ii; -1
(1Y) n-ii, beiii, c-ivi d-i

NMS-24923
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Choose the correct option by making the
following pairs :

a Kabir i. Ramcharit Manas
b Guru Nanah ii. Sursagar

¢ Surdas “fii Guru Granth Saheb
d Tulsidos iv Beejak

ﬂmmm

(A) a-i, b-ii, c-Hl d-iv
(B} a-ii, beiv, e, d-iii
(C) a-iv, b-iii, €55, d-i
(D) a-iii b-i. e-iv, d-ii

Jagannath Temple-Puri is located in which
state of India?

(A) Rajasthan

(B} Odisha

(C) Madhya Pradesh

(D) Maharashtra

The Sanskrit poem narrating the history

of the kings of Kashmir composed by the
et “Kalhana' is —

{A) Abhigvanshakuntalam

(B) Vikramankdevcharit

(C) Rajtarangini
(1) Mrichchkatikam

The author of the national anthem of India
“Juna Gana Mana™ 15 —

(A) Bﬂm.lm Chandra Chatterjec

(B) Swami Vivekanand

(C) Ravindra Nath Tagore

(1) Arbindo Ghosh

What is the solid crust or hard layer of the

carth called?
(A) Aimosphere (B} Hydrosphere

{(CY Lithosphere (1) Biosphere

{Choose the comrect option by making the
following pairs-|-

a Thermometer, i air pressure gauge

b Barometer | i indicates wind
direction

¢ Rain gauge - iii Temperature gouge

d Wind vane iv Shows the amont
of rain

Option :

(&) n-|., b-ii, c-iil, d=iv
(B a-ifi, bei, ctv, d-ii
(C) a-iv, b-iii, c-i, d-i
(17 a-ii, b=iii, ¢=iv, d-i

PTOL
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54

a7

;rrgﬁmﬂnmfﬁﬂﬂmﬂmﬂﬂmﬁr

(A) TegHEm
(C) BHATHEH

HITH & Iudl &9 w0 o 1% g TE
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(A)
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(C) et ga=
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bR e b s
(A) Eipfiey (B) ey
(C) s (D) ezt
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(A) T9i—qEm (B) =grr—rzy
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AR T qEETTE g 3= B
(A) g9 & Frez

(13) wim T & feee

{C) (A) & (B) 5

(D) 7% § i =ff

g & et e TH A R -
(A) a9 dfa

(B) 7 wsg= afee

(C) At =8 =

() Tafardt =) dfas

P g (e P arfemidesi B B 7
(A) g (B) vjrer
(C) um (D) gt

Tae &1 e w1 e b
(A) HETT F6Rm

(B} &= gEms

() wErwmErll Seugs

(13 T e

(B) = sgaea
(1) s
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The layer of the atmosphere in which we
breathe is called :-

(A} Mesosphere  (B) Exosphere

(C) Stratosphere (1Y) Troposphere

The hot and dry local wind of the northern
region of India is called -

(A} Loo

(B) Permanent wind

(C') Seasonal wind

(D) Polar eastern wind

Earthquake measuning instrument is :—
{A) Barometer i{B) Fathometer
(C) Seismograph (D) Thermometer

What happens on the surface of the earth
due to the powerful gravitational force of

the Sun and the Moon?
{A) Rainstorm (B) Tides
{C) Rain (D) Earthguake

Wiarm ocean currents generally originates
from —

(A) Near the poles

(B) Near the equator

(C) Baoth (A)and (B)

(D) None of these

The largest river basin of the world is—
(A) Amazon Basin

(B) Ganga-Brahmaputra Basin

(C) Nile River Basin

{3} Mississippi River Basin

What are low-lyving areas very susceptible
o7

{A) Earthquakes (B) Landslides

(C) Flooding (D) Tsunamis

The largest desert in the world is -
(A) Sahara Desen

(B) Thar Desert

(C) Kalahari Desert

() Gobi Desert
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ikl & ¢

(A v wen

(B) =4 &1 30=m & W gia 4w

(C) mriraril & vy aidils ® e 9
T ST

(D) o & Preer & wyam e & aosm
LR TE )

NI & #ie arres weares Tedl | fie g
# waifirs s w7

(A) FrTEE (B) =&

(C) B (D) wA=ZH

e TTE o Hieae | i # -
(A) Fram

(B) =

{(C) 3t (A) 3 (B)

(D) 778 A = 78

Tt wre o Tevei o0 0 WEH TR W1 HEAE
= of e WA R -

(A) =l (B) =

(C) Tt (D) 5= & wrd =
afe faedt Fomet & 13 o W wws w5 w1
TET W1 T TH W w7

{A) Firem =51 w=m

(B &1 & H W

(C) o7 o

(D) &= & = T

Ferepferftar & B o @ s afomre = & 7
(A) TN W AT

(B) wd=an %1 AT

(C) wiraw & Fres siftssre

(D) Tafa = i

T AT o gl e miE (EVM)
= i wdya Fa i
(A) 2004 % (B) 2009 §
(C) 2014 9 (D) 2019 %
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Which of the following stalements is not

in favour of conservation of nature?

(A) Planting trees

(B} Close the tap immediately after use

(C) Reusing polypacks afler purchase

(D) Switch ofT the electrical equipments
after leaving the room

Which of these states has the highest
production among the iron ore producing
states in India™ .
(A% JTharkhand

{C) Chhattisgarh

(B) Odisha
(D) Karnataka

Constitution of & nation contains -
(A) Rules

(B} Laws

{C) Both (A) and (B)

{[} Mone of these

An aim or principle in its purest or best
form is said to be—
(A) Arbitrary

(C) Politics

(B) Ideal
(D) Mone of these

1f'a 13 vear old bov is working ina factory,
then what would he be called?

(A) Freedom of education

(B) Earmning equality

(C) Child Labour

(D) Mone of these

Which of the following is not &
fundamental right 7

(A) Right 1o equality

(B) Right to freedom

(C) Right against exploitation

(D) Right to property

When was the Electronic Voting Machine
{EVM) first used in gencral elections?
(A) In 2004 (B} In 2009

{(C) In 2014 () In 2019

PTL)
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(A) =raenirs

(B) =g

(C) wrfarfers

(D) 57 & =g 71

ay & fisedt aeifes & 0w W € s o
v saftrrdl & Twia gon § o aw g @
frmat sro F W w7

(A) Ty (B) = #e

() = (D) sty

P A g Ee m s Tk ¢

(A) B (B) and oy
(C) @ (D) drew

gl & R gewe & o4 w5 8 ura
Bk

(A) wirft & = T smaT

(B) w | =g ke

(C) 7T | g vl e e

(D) i w4t

T 9% faws s s fEwa -
(A) 2005 % (B} 2006
(C) 20134 (D} 2000 %

Hul wEe W e A & o 0T W S e
L &4

{A) =nfgr =8
(C) &= =38

(B) &= 8
(D) flam =y
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A group of people who work together to
implement the laws made by the
parliament is called -

{A) Legislature
(B) Judiciary

{C) Executive
(D} Mone of these

IT a citizen of country feels that his
fundamental rights have been violated,
then he can take refuge in which of the
following 7
(A} School
(C) Court

(B} Health Center
(13} Temple

Which of the following is a water related
disease 7
{A) Cholera
(C) Plague

(B) Eye flu
i) Small pox

From where does the government get the

maoney for public facilities?

(A} Income tax collected from people

(B) Fine collected from people

(C) Other taxes collected from the
people

(D} All of the above

Law against child labour
implemented —
(A) in 2005

{C) in 2013

Wwiasg

(B) in 2006
(13} in 2009

Kumbh Mela is held on the banks of which
river in Madhya Pradesh 7

{A) Narmada (B) Ken

(C) Son (D) Shipra

RPT.On
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MATHEMATICS
JB2S x Y625
n — = g xmAAEm- | 71 If =2 thenx=?
T e e 56 ke
(A) 4 (B) 5 (A) 4 (B) 5
(C) 20 (D) 25 (C) 20 (D) 25
3 i asbrePantililoom |72 Wasbre=Pand sy >0, theh
a.b e a b e
a at, bt et m alv wm - the average of a”, b, ¢ is-
3 3 3 3
e e (A) —= B) =
*) B) = 3 o
Ik P Lid i
() 3 (I3 5 (C) 3 (D) z
73 T o adEE W e af T 3 9 g 73 Product of ages of Raju at before 3 years
wd 3 anf A A w  ew 726 um!ai'tcr_} vears is 72. What is present
(A) 16 = (B) 9 =k P ‘;ﬁ:’; A B
(€) 18ad (D) 27 = (C) 18 years (D) 27 years
74 :;j: ; 3%) % 4% mi:;"j 74 The value of (2°+3%) % 4° =7
(A) 2 (B) 3
(€) 4 (D) 6 i 4 (D) 6
75 0.1 % 1% ®Fm - 7% 1% of 0.1 is -
(A) 1 (B) 0.01 (A) 1 (B) 0.01
(C) 0.1 (D) 0.001 (C) 0.1 (D) 0.001
e s J, J_ % oz J335
Y104 y 25+ 108 + 154 4 /225 W 76 m+st+Jms+J154+ 295 =1
= B - (A) 1 (B) 4
(A) 1 (B) 4 (Cy 16 (D) 36
(C) 16 (D) 36 :
77 The point of intersection of the
77 fed P ¥ e w5 wireie g perpendicular bisectors of the sides of
Y WE AT b - triangle is called -
(A) T (B) ar=d (A) Centroid (B) Incentre
(C) wEH= (D) ufie (C) Orthocentre (D) Circumcentre
MNME-244923 PT.O.



o T o S o w0 e ¥ oty e aftEm
o x 3w & A W g e —

(A) 4 7mrd (B) & gmrd

(C) 16 57 (I3) 64 %

TR o it b o qin deand e v B oA

a’ =125, 4 (a~8)"""" = gy
(A) 25 (B) 125
(C) 625 (D) 16

s wpees 0 6 i Ay 12Ew k@ oEm

12 2
VT ok
(A) 7 (B) 3
7 3
(C) s (D) 3

HEm 857375 @ waE b -

(A) 75 (B) &5

(C) 95 (D) 105

| % 7T 99 WE A s demel w1 am
1 +3+5+T+9% ... +90=7

(A} 2500 (B) 2525

(C) 2550 (D) 2575

FEH g oA b -

Lkl e
aftfa gffl
(C) wTE (D) P

BNMS-24923
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The area of 5 square is x $q. unit and its
perimeter is also x unit then value of x is -
(A) 4 unit (B) 8 unit

(C) 16 unit (D) 64 unit

If' @ and b are two positive integers such

that " =125, then (a-B)***"* =7

{A) 25 (B} 125
(C) 625 (D) 16

A polyhedron has 6 vertices and 12 edges.
How many faces will it have?

{A) & (B) 7

(C) & (D) 10

=1
The value of [2 -3(2+ 3]_1] is -

12 2
{A]T EB};
() ~ Dy 2

3 &3

Cube root of 857375 is -
(A) 75 (B) 85
(C)y 95 {D) 105

Sum of odd numbers from 1 10 99 as given
below is -

L3+ 8+ 40400 + 00 =7

(A) 2500 {B) 2525

(C) 2550 (D) 2575

In reference to a circle the value of n is
equal 1o -

Area
Diameter

CA) —niESE___ ch)

Circumference

Circumference
Radius

() Elrcl.lun’rerﬂ‘l:!e (D)
Diameter

PT.()



85 foyerffias & S dem qu 961 § ¢
l .
4 B) 0
(A) 3 (B)
|
{(C) 2 (I3 -2
86 1001 = 1001 — 999 = 959 -
(A} 2000 (B) 1999
(C) 4025 (D) 4000
87 327 + 30.008 + Y0.064 = o= g -
(A) 3.006 (B) 3.06
(C) 3.6 (D) 3.66
B8 us =ET &7 A 300 F3zw F fam
42 =1 B S e Ioere B afg S0 %I
T afr gfye B o ¥ A e a e
firer ey 7
(A) 30 fas (B) 36 =
{C) 40 = (D) 42 &=
89 Py o 4 fwae wm gaifos s ?
32 0.320
{a) ShE (k) ~50
3.2 3.2
(c) T (d) o
(A) (a) (B} (b)
(C) (c) (D) (d)
90 aft feed W = %%. 42 %, & =% e
Bt -
{A) 9800 (B) 8
{C) 1800 (1)) 180
NMS-24923
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a9

Wi

Which s greater number in the following?

i
LA) -E (B o
L) = (D) -2
2
1001 = 100] — 999 = QGG =
(A) 2000 (A} 1999
(C) 4025 () 4000

327 + J0.008 + Y0064 =7
(A) 3.006 (B) 3.06
(C) 3.6 (D} 3.66

In a scout camp there is & food provision
for 300 cadets for 42 davs. I 50 more
person join the camp for how many days
will the provision last?

(A) 30 days (B} 36 days

(C) 40 days (1) 42 days

Which of the tollowing has the largest
value?

) e 0320
oS S0
3.2 32
() 005 (d) 0
(A (&) (B} (b}
{C) (c) Dy (d)

-
If ;"ﬂ’: of a number is 42, then the number

15 -
(A) QROO
(C) 1RO0

(B) &
(L) 180

PT.Cx
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